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REEMEXA-A" i

EEYRAHE
=5. 00

1;11 L=3.00

S 7 _+2.00 BAEME  rsat=20.0kN/m3 yt=18.0kN/m3 ¢ =30°
o

HWL +0.80

£ & & #x (SKY490) g rt=1 § OkN/m3, " =10. OkN/m3
R fz_ggo% 16 L5 g PR A IIE Tk (RE ) $=32 N=b
~-T& L-100x 75 x T

. +0.00—

13. 40

yt=18.5kN/m3, 1’ =8.7kN/m3
¢ =33 N=11

HhA¥e B EH

yt=18.5kN/m3, 1’ =8.7kN/m3
¢ =33 N=11

-12. 60 (EREt7KR)

As2 yt=18.0kN/m3, ' =10. OkN/m3
¢ =34 N=13

; yt=18.0kN/m3, ' =10.0kN/m3
#4838 T 5 L=51.00 Pt

-18.80
-20. 30

As3 y t=18.0kN/m3, y ™ =10. OkN/m3
b =36 N=26

" =10. OkN/m3

Dsg v t=18.0kN/m3, ¥’ =10. 0kN/m3 7’t=1§.0kN/m3,
¢ =39° N=49 L ¢ =36° N=32

-25.00

yt=18.0kN/m3, 7' =10.0kN/m3
Dcl y =11.1kN/m3, ' =1.0kN/m3 ¢ =38 N=50
C=83. 7TkN/m2 Y = IT_TKN/m3,

-28. 50 C=83_7kN/m2

v =1.0kN/m3

Ds1 yt=18.0kN/m3, ' =10. OkN/m3 yt=18.0kN/m3, r' =10. OkN/m3
¢ =34 N=25 ¢ =34 N=25

-33.10

Dc2 y =17. 6kN/m3, ' =7.5kN/m3 y =17.6kN/m3, vy’ =7.5kN/m3
C =133. 4kN/m2 C =133. 4kN/m2

-39.10

Ds2 y t=18.0kN/m3, ¥’ =10. 0kN/m3 Y t=18.0kN/m3, 7' =10.0kN/m3
¢ =37" N=50 ¢ =37" N=50

AHEE. SHOEEIABAOLOTHY . SRETT LTLEMENHY ET.




RXEMTE XIB-B° Wi

EEYRAHE
=5. 00

1;11 L=3.00

S v +2.00 E v sat=20.0kN/m3 yt=18.0kN/m3 ¢ =30°
H WL +0.80 N

. +0.00— |
% K 4R (SKY490) r t_= 18. 0kN_/m3, =10. OkN/m3
¢ 1200 x 19t  L=25. 50m ¢ =32° N=b
(L-T#! L-100x 75 x 10)

=13. 4

yt=18.5kN/m3, 1’ =8.7kN/m3
¢ =33 N=11

Hh#Fe B IEH

yt=18.5kN/m3, 1’ =8.7kN/m3
¢ =33 N=11

-12. 60 (EREt7KR)

As2 yt=18.0kN/m3, ' =10. OkN/m3
¢ =34 N=13

; yt=18.0kN/m3, ' =10.0kN/m3
#4878 T 5 L=46. 00 Pt

-18.80
-20. 30

As3 y t=18.0kN/m3, y ™ =10. OkN/m3
b =36 N=26

Dsg v t=18.0kN/m3, ¥’ =10. 0kN/m3 7t=1§.0kN/m3, " =10. OkN/m3
¢ =39° N=49 L . ¢ =36° N=32

-25.00

yt=18.0kN/m3, 7' =10.0kN/m3
Dcl y =11.1kN/m3, ' =1.0kN/m3 ¢ =38 N=50
C=83. TkN/m2 : =R

-28.50 . C=83 7kN/m?

v =1.0kN/m3

Ds1 yt=18.0kN/m3, ' =10. OkN/m3 yt=18.0kN/m3, r' =10. OkN/m3
¢ =34 N=25 ¢ =34 N=25

-33.10

Dc2 y =17. 6kN/m3, ' =7.5kN/m3 y =17.6kN/m3, vy’ =7.5kN/m3
C =133. 4kN/m2 C =133. 4kN/m2

-39.10

Ds2 y t=18.0kN/m3, ¥’ =10. 0kN/m3 Y t=18.0kN/m3, 7' =10.0kN/m3
¢ =37" N=50 ¢ =37" N=50

AREIT, FHCEEIARRDOLOTHY . SREET HAEMLSHYFET,




RXEMEXIC-C" Mim

EEYRAHE
=5. 00

1;11 L=3.00

B 2 +2.00 BESE  ysat=20.0kN/m3 yt=18.0kN/m3 ¢ =30°
HW.L.  +0.80 o

. +0.00— : - Bog = —
% K 4R (SKY490) r t_— 18. 0kN_/m3, =10. OkN/m3
¢ 1200 x 19t  L=25. 50m ¢ =32° N=b
(L-T#! L-100x 75 x 10)

=13. 4

yt=18.5kN/m3, 1’ =8.7kN/m3
¢ =33 N=11

Hh#Fe B IEH

yt=18.5kN/m3, 1’ =8.7kN/m3
¢ =33 N=11

-12. 60 (EREt7KR)

As2 yt=18.0kN/m3, ' =10. OkN/m3
¢ =34 N=13

; yt=18.0kN/m3, ' =10.0kN/m3
483 B T 5 L=26.00 Pt

-18.80
-20. 30

As3 y t=18.0kN/m3, y ™ =10. OkN/m3
b =36 N=26

" =10. OkN/m3

Dsg v t=18.0kN/m3, ¥’ =10. 0kN/m3 7t=1§.0kN/m3,
¢ =39° N=49 L ¢ =36° N=32

yt=18.0kN/m3, 7' =10.0kN/m3

Dcl y =11.1kN/m3, ' =1.0kN/m3 ¢ =38 N=50

C=283. TkN/m2 Y =11_TkKN/m3, 7 =1. 0kN/m3
-28.50 C=83 7kN/m2

-25.00

Ds1 yt=18.0kN/m3, ' =10. OkN/m3 yt=18.0kN/m3, r' =10. OkN/m3
¢ =34 N=25 ¢ =34 N=25

-33.10

Dc2 y =17. 6kN/m3, ' =7.5kN/m3 y =17.6kN/m3, vy’ =7.5kN/m3
C =133. 4kN/m2 C =133. 4kN/m2

-39.10

Ds2 y t=18.0kN/m3, ¥’ =10. 0kN/m3 Y t=18.0kN/m3, 7' =10.0kN/m3
¢ =37" N=50 ¢ =37" N=50

AREIT, FHOFEEIARRANDLOTHY ., SREETT HARRESHY FT,




ZXEMTE XID-D° M

24 )L F330T
c. to.c 2. 606m

+3.30
B = +2.00 BESHE  rsat=20.0kN/m3 yt=18.0kN/m3 ¢ =30°

HW.L. +0.80 o ,

LWL =000 == Bog a

= 8% K45 (SKY490) gt:—s;g,OEN:/rg& =10. OkN/m3

$ 1200 x 14t [=29. 00m FERARCH
(L-T# L-100 x 75 x 10)

-4. 80

yt=18.5kN/m3, 1’ =8.7kN/m3
¢ =33 N=11

.
PR (SKKA90) yt=18.5kN/m3, 7’ =8. TkN/m3
¢.to.c 2.606m ¢ =33 N=11

-12. 60 (EREt7KR)

As2 ¥ t=18.0kN/m3, ¥’ =10. OkN/m3
¢ =34 N=13 yt=18.0kN/m3, r'=10. OkN/m3

¢ =33 N=19

-18.80

-20. 30

As3 y t=18.0kN/m3, y ™ =10. OkN/m3
b =36 N=26

Dsg 7 t=18.0kN/m3, 7’ =10. OkN/m3 7 t=18.0kN/m3, 7" =10. OkN/m3
®=39° N=49 »=36" N=32
=25.00 yt=18.0kN/m3, 7' =10.0kN/m3

Dcl y =11.1kN/m3, ' =1.0kN/m3 ¢ =38 N=50
C=83. TkN/m2 Lt Y =1T_TKN/M3, 7 =1.0KN/m3
-28. 50 C=83_7kN/m2

Ds1 yt=18.0kN/m3, ' =10. OkN/m3 yt=18.0kN/m3, r' =10. OkN/m3
¢ =34 N=25 ¢ =34 N=25

-33.10

Dc2 y =17. 6kN/m3, ' =7.5kN/m3 y =17.6kN/m3, vy’ =7.5kN/m3
C =133. 4kN/m2 C =133. 4kN/m2

-39.10

Ds2 y t=18.0kN/m3, ¥’ =10. 0kN/m3 Y t=18.0kN/m3, 7' =10.0kN/m3
¢ =37" N=50 ¢ =37" N=50
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